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3. Evaluate. Do not use a calculator.
23— 1i6)><?08)—
b) (—14.8) X 09 — 31
e i—1238 = —02) - - 25- 15
d) (—4.8) X (—0.4 + 0.6)?
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4. Evaluate. Do not use a calculator.

a) o+ (%)x . BERMAS
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5. a) Use a calculator to evaluate the
expression below. Key in the expression

as 1t 1s written.

—2.8—14 X 4.5
L
~ 1@ —6e
<

b) Does the calculator follow the order of
operations or does it perform operations
from left to right? How did you find out?
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6. Estimate which expression has the greatest

value. Then use a calculator to evaluate each

expression to verify your prediction.

a) 9.1 —3.5 X (4.2

|—_—_l

Tl = 2.5 x ([3eht)
Q.| — bl.=2Y
= — 53.0%

9 9.1—(3.5X4.2)
%11+ )
= el - Ubst
= -206e1

b) (9.1 —3.5) X (4.2)?
| [ }
56 X Q.Li)a

C.b X [3elY4

. = 9672}

d) 9.1[(—3.5)><(aﬁ./2)2]
%! CGI%S) X 13.L4]

9% el
= - 55\.?3?
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7. Evaluate.

P8
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S PDMAS
Find the errors in each solution. B ED

Write the correct solution.

- : - 48+ (-1.2)

A (37)x. -4+ (12 A (B x(28+15) 1
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10. A can of soup is a cylinder with radius
3.5 cm and height 11.5 cm.

sa= ame® +amrh
‘ L (24) (2e5)° + & (304) ) (1165)

= 2 (3. W) (e 5) + &= s) (1ie5)

11.5cm _— (3-"") ([%qs) + 1H2e?

= Heed3d + 25%31
= 529, e+

Use the formula:
Surface area = 2mr? + 2mr X height,

where r 1s the radius of the can

a) Determine the area of tin needed to make

the can, to the nearest square centimetre.

b) Explain how you used the order of
operations in part a.
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lo%
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lo%
e= Yo
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12. Evaluate. State the order in which you

carried out the operations.
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13. Use a calculator to evaluate.
Write the answers to the nearest

hundredth where necessary.
) 23+ {—112) +4—02) — 37
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d)

8.9 X (—3.1 +22.7) + 4.7

(—9.6) + 0.04 — 0.4
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17. A student’s solution to a problem, to the
nearest hundredth, is shown below. The

solution is incorrect. Identify the errors.

Provide a correct solution.

(-8.2)" + (-03) -2 % 5)
= 724 + (-073) - 2.9 x (-57)
= ¢7.24 + (-03) - 1653
= 6124 + (-16.83)

= 4.00
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